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efJe<eÙe : DeLe&MeeŒe
Subject : Economics

meceÙe : 3 Iebšs] [hetCeeËkeâ : 80
Time : 3 Hours] [Maximum Marks : 80

efveoxMe : (i) meYeer ØeMveeW keâes nue keâerefpeS~

All questions are compulsory.

(ii) ØeMve ›eâceebkeâ 1 mes 8 lekeâ Deefle ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 1 Debkeâ DeeJebefšle nw~

Question Nos. 1 to 8 are very short answer type questions. Each question

carries 1 mark.

(iii) ØeMve ›eâceebkeâ 9 mes 12 lekeâ ueIeg GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 3 Debkeâ DeeJebefšle nQ~ Gòej keâer

DeefOekeâlece Meyo meercee 50 Meyo nw~

Question Nos. 9 to 12 are short answer type questions. Each question carries

3 marks. Maximum word limit of answer is 50 words.

(iv) ØeMve ›eâceebkeâ 13 mes 18 lekeâ oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 4 Debkeâ DeeJebefšle nQ~ ØelÙeskeâ

ØeMve ceW Deevleefjkeâ efJekeâuhe nQ~ Gòej keâer DeefOekeâlece Meyo meercee 75 Meyo nw~
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Question Nos. 13 to 18 are long answer type questions. Each question carries

4 marks. Each question has internal choice. Maximum word limit of answer is

75 words.

(v) ØeMve ›eâceebkeâ 19 mes 24 lekeâ oerIe& GòejerÙe ØeMve nQ~ ØelÙeskeâ ØeMve hej 6 Debkeâ DeeJebefšle nQ~ ØelÙeskeâ

ØeMve ceW Deebleefjkeâ efJekeâuhe nQ~ Gòej keâer DeefOekeâlece Meyo meercee 250 Meyo nw~

Question Nos. 19 to 24 are long answer type questions. Each question carries

6 marks. Each question has internal choice. Maximum word limit of answer is

250 words.

(Deefle ueIeg GòejerÙe ØeMve)

(Very Short Answer Type Questions)

ØeMve—1. meecÙe cetuÙe efkeâmes keânles nQ ? 1

What is the equilibrium price ?

ØeMve—2. ceebie Je›eâ keâe {eue meeceevÙele: kewâmee neslee nw ? 1

How do gradient normality of demand curve occurs ?

ØeMve—3. meeKe cegõe keâe GoenjCe oerefpeS~ 1

Give an example of credit money.

ØeMve—4. DeefOeefJekeâ<e& megefJeOee efkeâme DeeJeMÙekeâlee keâer hetefle& keâjleer nw ? 1

What is the overdraft facility that serves the needs ?

ØeMve—5. DeØelÙe#e keâj efkeâmes keânles nQ ? 1

What is called indirect taxes ?

ØeMve—6. yepeš keâer DeJeefOe efkeâleves Je<e& keâer nesleer nw ? 1

How many years does the budget period ?
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ØeMve—7. efJeosMeer efJeefveceÙe oj efkeâmes keânles nQ ? 1

What do you mean by foreign exchange rate ?

ØeMve—8. Yegieleeve meblegueve kesâ KeeleeW kesâ veece efueefKeS~ 1

Write the name of the account of balance of payment.

(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

ØeMve—9. efvecveefueefKele leeefuekeâe keâes hetje keâerefpeS : 1½+1½=3

Glheeove FkeâeF& kegâue ueeiele kegâue heefjJele&veerÙe ueeiele meerceeble ueeiele

` ` `

0 12 .......... ..........

1 18 .......... ..........

2 21 .......... ..........

Complete the following table :

Production unit Total cost Total variable cost Marginal cost

` ` `

0 12 .......... ..........

1 18 .......... ..........

2 21 .......... ..........

ØeMve—10. hetCe& ØeefleÙeesefielee yeepeej keâer efJeMes<eleeSb efueefKeS~ (keâesF& leerve) 1+1+1=3

Write the characteristics of perfect competition market. (Any three)

ØeMve—11. Øesefjle efveJesMe leLee mJeleb$e efveJesMe ceW Deblej mhe° keâerefpeS~ 1+1+1=3

Explain the difference between the induced investment and autonomous

investment.
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ØeMve—12. efceleJÙeefÙelee kesâ efJejesOeeYeeme keâer JÙeeKÙee keâerefpeS~ 3

Explain the paradox of thrift.

(oerIe& GòejerÙe ØeMve)

(Long Answer Type Questions)

ØeMve—13. Øeefleketâue Yegieleeve meblegueve keâes "erkeâ keâjves kesâ GheeÙe efueefKeS~ (keâesF& Ûeej) 1+1+1+1=4

Write the measures for correct adverse balance of payment. (Any four)

DeLeJee / OR

ÂMÙe DeeÙeele-efveÙee&le SJeb DeÂMÙe DeeÙeele-efveÙee&le keâes mecePeeFS~ 2+2=4

Explain visible import-export and invisible import-export.

ØeMve—14. yepeš keâer efJeMes<eleeSb efueefKeS~ (keâesF& Ûeej) 1+1+1+1=4

Write the characteristics of the budget. (Any four)

DeLeJee / OR

meeJe&peefvekeâ JÙeÙe kesâ ØekeâejeW keâes efueefKeS~ (keâesF& Ûeej)

Write the types of public expenditure. (Any four)

ØeMve—15. JÙeef° SJeb meceef° DeLe&MeeŒe ceW Devlej efueefKeS~ (keâesF& Ûeej) 1+1+1+1=4

Distinguish between micro-economics and macro-economics. (Any four)

DeLeJee / OR

Glheeove mebYeeJevee Je›eâ keâer ceevÙeleeSB efueefKeS~ (keâesF& Ûeej)

Write the assumption of production possibility curve. (Any four)

ØeMve—16. Glheeove ueeiele mes Deehe keäÙee mecePeles nQ ? mhe° ueeieleeW SJeb Demhe° ueeieleeW ceW Deblej yeleeFS~ 1+3=4

What do you mean by production cost ? Distinguish between explicit cost and

implicit cost.

DeLeJee / OR

meeOeve kesâ ØeefleHeâue leLee hewceeves kesâ ØeefleHeâue ceW Devlej efueefKeS~ (keâesF& Ûeej) 1+1+1+1=4

Write difference between returns to a factor and returns to scale. (Any four)
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ØeMve—17. Jemleg efJeefveceÙe ØeCeeueer keâer keâef"veeFÙeeW keâer JÙeeKÙee keâerefpeS~ cegõe ves Fme mecemÙee keâe meceeOeeve kewâmes

efkeâÙee ? 2+2=4

Explain the difficulties of barter system. How did money solve this problem ?

DeLeJee / OR

keWâõerÙe yeQkeâ Deewj JÙeeheeefjkeâ yeQkeâ ceW Deblej mhe° keâerefpeS~ (keâesF& Ûeej) 1+1+1+1=4

Explain the difference between central bank and commercial bank. (Any four)

ØeMve—18. efvecve metÛeveeDeeW kesâ DeeOeej hej mekeâue Iejsuet Glheeo (GDP) SJeb mekeâue je°^erÙe Glheeo (GNP) keâer

ieCevee keâerefpeS : 2+2=4

            ceoW ` keâjesÌ[ ceW

(1) GheYeesòeâe JemlegDeeW SJeb mesJeeDeeW keâe Glheeove 9,300

(2) hetbpeeriele JemlegDeeW SJeb mesJeeDeeW keâe Glheeove 6,100

(3) DeeÙeele 1,800

(4) efveÙee&le 2,000

Based on the following information, calculate Gross Domestic Product (GDP)

and Gross National Product (GNP) :

                  Items ` in Crore

(1) Production of consumer goods and services 9,300

(2) Production of capital goods and services 6,100

(3) Import 1,800

(4) Export 2,000
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DeLeJee / OR

efvecveefueefKele DeebkeâÌ[eW mes DeeÙe efJeefOe kesâ Éeje je°^erÙe DeeÙe keâer ieCevee keâerefpeS :

        ceoW ` keâjesÌ[ ceW

(1) Jesleve 30,000

(2) efkeâjeÙee 10,000

(3) ueeYe 10,000

(4) yÙeepe 10,000

(5) GheYeesie 50,000

(6) mekeâue Iejsuet efJeefveÙeesie 4,000

Based on the following information, calculate National Income by Income Method :

          Items   ` in Crore

(1) Salary 30,000

(2) Rent 10,000

(3) Profit 10,000

(4) Interest 10,000

(5) Consumption 50,000

(6) Gross Domestic Investment 4,000

(oerIe& GòejerÙe ØeMve)

(Long Answer Type Questions)

ØeMve—19. DelÙeefOekeâ ceebie keâes megOeejves kesâ jepekeâes<eerÙe GheeÙeeW keâes mecePeeFS~ (keâesF& Ú:) 1+1+1+1+1+1=6

Explain the fiscal measures to correct excess demand. (Any six)

DeLeJee / OR

keâervme kesâ jespeieej efmeæeble keâer DeeueesÛeveeSB efueefKeS~ (keâesF& Ú:)

Criticise the Keynesian theory of employment. (Any six)
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ØeMve—20. Yeejle ceW je°^erÙe DeeÙe ceW Je=efæ keâer oj Oeerceer keäÙeeW nw ? je°^erÙe DeeÙe ceW Je=efæ nsleg Deheves megPeeJe

oerefpeS~ 3+3=6

Why is the rate of rise in national income in India slow ? Give your suggestions

to increase national income.

DeLeJee / OR

oesnjer ieCevee keâer mecemÙee keâes Skeâ GoenjCe Éeje mhe° keâerefpeS leLee yeleeFS efkeâ oesnjer ieCevee keâer

mecemÙee mes efkeâme Øekeâej yeÛe mekeâles nQ ? 2+2+2=6

Explain the problem of double counting as clear by example and how to avoid

the problem of double counting ?

ØeMve—21. ceebie keâer keâercele ueesÛe keâes ØeYeeefJele keâjves Jeeues lelJeeW keâer JÙeeKÙee keâerefpeS~ (keâesF& Ú:) 1+1+1+1+1+1=6

Explain the factors affecting the price elasticity of demand. (Any six)

DeLeJee / OR

ceebie keâe DeLe& keäÙee nw ? ceebie kesâ ØecegKe lelJeeW keâer JÙeeKÙee keâerefpeS~ 1+5=6

What is the meaning of demand ? Explain the main elements of demand.

ØeMve—22. GheYeesòeâe kesâ meblegueve keâer meefÛe$e JÙeeKÙee keâerefpeS~ 1½+1½+1½+1½=6

Explain consumer equilibrium with diagram.

DeLeJee / OR

meerceeble GheÙeesefielee Üeme efveÙece keâes leeefuekeâe SJeb jsKeeefÛe$e Éeje mecePeeFS~

Explain the law of diminishing marginal utility with the help of table and diagram.
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ØeMve—23. hetefle& kesâ efveÙece kesâ DeheJeeo efueefKeS~ (keâesF& Ú:) 1+1+1+1+1+1=6

Write the exceptions of law of supply. (Any six)

DeLeJee / OR

Deuhekeâeueerve SJeb oerIe&keâeueerve Glheeove Heâueve ceW Deblej efueefKeS~ (keâesF& Ú:)

Write the difference between short period and long period production function.

(Any six)

ØeMve—24. SkeâeefOekeâej leLee SkeâeefOekeâejer ØeefleÙeesefielee ceW Devlej mhe° keâerefpeS~ (keâesF& Ú:) 1+1+1+1+1+1=6

Distinguish between monopoly and monopolistic competition. (Any six)

DeLeJee / OR

yeepeej cetuÙe keâer efJeMes<eleeSB efueefKeS~ (keâesF& Ú:)

Write the characteristics of market price. (Any six)
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